      Extra Chapter 08
    Confidence Intervals
1. True/False questions. 
a) ______A very wide confidence interval gives the message that there is a great deal of uncertainty concerning the value of what we are estimating.
b) ______ When the level of confidence and sample standard deviation remain the same, a confidence interval for a population mean based on a sample of n = 100 will be narrower than a confidence interval for a population mean based on a sample of n = 50. 

2. Unoccupied seats on flights cause airlines to lose revenue. Suppose a large airline wants to estimate its average number of unoccupied seats per flight over the past year. 225 flight records are randomly selected and the number of unoccupied seats is noted with a sample mean of 11.6 seats and a standard deviation of 4.1 seats. 

(a) Calculate a 95% confidence interval for [image: image1.wmf] , the mean number of unoccupied seats per flight during the past year. 

(b) How many flights should we select if we wish to estimate ( to within 5 seats and be 95% confident? 
3. Health insurers and the federal government are both putting pressure on hospitals to shorten the average length of stay (LOS) of their patients. In 1996, the average LOS for non-heart patient was 4.6 days. A random sample of 40 hospitals in one state had a mean LOS for non-heart patients in 2000 of 3.8 days and a standard deviation of 1.2 days. How large a sample of hospitals would we need to be 99% confident that the sample mean is within 0.5 days of the population mean? 
4. An insurance analyst working for a car insurance company would like to determine the proportion of accident claims covered by the company. A random sample of 200 claims shows that the insurance company covered 80 accident claims while 120 claims were not covered. Construct a 98% confidence interval estimate of the true proportion of claims covered by the insurance company. 
